Pub. 43003-039A

4\

GAI-TRONICS® CORPORATION

A HUBBELL COMPANY

Solar Panel Interface Kit

Model SPK200

Confidentiality Notice

This manual is provided solely as an operational, installation, and maintenance guide and contains
sensitive business and technical information that is confidential and proprietary to GAI-Tronics.
GAI-Tronics retains all intellectual property and other rights in or to the information contained herein,
and such information may only be used in connection with the operation of your GAI-Tronics product or
system. This manual may not be disclosed in any form, in whole or in part, directly or indirectly, to any
third party.

General Information

The Model SPK200 Solar Panel Interface Kit is designed for use with GAI-Tronics Model RFP7784-108
Solar Panel (30 watt) and Model XB001 External Weatherproof Long-Life Battery Kit.

The Model SPK200 Solar Panel Interface Kit includes the following components:

Qty Description

1 Cable bushing

1 Terminal block, 2-point

1 Battery charge regulator

2 Screws, #6-32 x 0.500-inch
4 Screws, #6-32 x 0.187-inch
1 Solar kit wiring harness

1 Mounting Kit
Installation

Installing the Model RFP7784-108 Solar Panel Array
1. Remove the Model RFP7784-108 Solar Array Panel from the shipping package.

2. Mount the solar panel to the bracket using the provided hardware. Instructions are included with
30LT HPM mounting Kit.

3. Install the mounting kit to the desired surface. If surface mounting, two lag screws or bolts are
required. If pole mounting, hose-clamps or U-bolts (up to 4-inch diameter) are required.

4. Route the cable attached to the panel into the Model XB001 Battery Enclosure.

GAI-Tronics Corporation P.O. Box 1060, Reading, PA 19607-1060 USA
610-777-1374 ® 800-492-1212 W Fax: 610-796-5954
VISIT WWW.GAI-TRONICS.COM FOR PRODUCT LITERATURE AND MANUALS



Pub. 43003-039A
MoDEL SPK200 SOLAR INTERFACE KIT Page: 2 of 3

Installing the Charge Regulator Module and Interconnection

1. Referring to Figure 1, remove the four screws from the front of the XB001 enclosure (mounted or not
mounted). Open the front cover to the left and pull straight out until the hinge pins separate from the
rear section. Set the front door of the enclosure aside.

REAR SECTION OF ENCLOSURE

BATTERY CHARGE
REGULATOR

FRONT SECTION OF ENCLOSURE

[~——— TERMINAL BLOCK

RNy N ===
CABLE BUSHING \%

Figure 1. Exploded view of the External Battery Enclosure with Charge Regulator Module

2. To prepare for the solar panel cable entry, drill a 0.492-inch hole into the bottom of the enclosure at
one of the two drill spots (dimple provided). Install the provided bushing into the hole.

3. Install the 2-point terminal block using the #6-32 x .187 inch (3/16-inch) screws provided.
4. Install the charge regulator module using the #6-32 x .500 inch (1/2-inch) screws provided.

5. Install the harness assembly provided, carefully adhering to the color-coding depicted in Figure 2, the
interconnection diagram.

d:\radio products-current release\43003\43003-0392a\43003-039a.doc
06/05



MoDEL SPK200 SOLAR INTERFACE KIT

Pub. 43003-039A
Page: 3 of 3

6. Connect the ¥-inch quick-connect fastons from the weatherproof receptacle harness to the terminal

strip.

7. Attach the charge regulator’s temperature sensor wire to the side of the fully charged battery using the
self-adhesive foam provided with the regulator.

8. After mounting the rear section of the enclosure, the solar panel cable can be installed. Refer to Pub.
43003-037 provided with the Model XB001 Kit for further information. Insert the solar panel cable
through the cable bushing, allowing enough slack to route the cable through the enclosure and
removing any excess cable. Attach to the charge regulator module. (The use of spade lugs is

recommended.) Tighten the bushing to insure retention of the rain-tight rating.

9. Return the door to the rear section by inserting the hinge pins and pushing into place, closing the
door. Re-install the four screws using 16 to 20 inch-pounds of torque.

10. Connect plug end of the wiring harness provided with the Model XB001 Kit to the weatherproof
receptacle and connect the lugged end to the terminal strip inside the Addressable Amplified Speaker.
If this solar power arrangement is used for GAI-Tronics’ RF Call Boxes, cut the lugs off the wires,

strip the insulation, and insert into the power connector on the Call Box PCBA.

SOLAR CHARGE REGULATOR
(CUSTOMER INSTALLED)

TERMINAL BLOCK

WPF. RECEPTACLE

HARNESS
TEMPERATURE——— BK
SENSOR WIRE | ] |
| r=—r BK —=0 |
| |
| |
! 'EL !
FOAM |
(CUSTOMER INSTALLED) ]

BATTERY ENCLOSURE

[
N EXISTING

WIRING
HARNESS

PROVIDED WIRING

S

CUSTOMER INSTALLED BUSHING /‘—f‘
JA)

MODEL 40201-008
12V 18AH BATTERY

/- (CUSTOMER INSTALLED)

No. RFP 7784-108
SOLAR PANEL, 30W

CUSTOMER ¥
INSTALLED

INTERCONNECTION DIAGRAM

Figure 2. Interconnection Diagram

d:\radio products-current release\43003\43003-0392a\43003-039a.doc

06/05



